
Lecture 8 
2020/2021 



Á2C/1L, MDCR 
ÁAttendance at minimum 7 sessions (course + 

laboratory) 
ÁLectures- associate professor Radu Damian 

ÁWednesday 15-17, Online, Microsoft Teams 

ÁE ɀ 50% final grade 

Áproblems + (2p atten. lect.) + (3 tests) + (bonus 
activity) 

ǐ3p=+0.5p 

Áall materials/equipments authorized 

 



ÁRF-OPTO 

Áhttp://rf -opto.etti.tuiasi.ro  

ÁDavid Pozarȟ Ȱ-ÉÃÒÏ×ÁÖÅ %ÎÇÉÎÅÅÒÉÎÇȱ, 
Wiley; 4th edition , 2011 

Á1 exam problem ă Pozar 

ÁPhotos 

Ásent by email/online exam 

Áused at lectures/laboratory 



ÁProfile photo ɀ ÏÎÌÉÎÅ ȰÅØÁÍȱ 



Áaccess to online exams requires the password 
received by email 



Á many numerical values 
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Grade = Quality of the work + 

+ Quality of the submission 





Áinput impedance of a length l of transmission 
line with characteristic impedance Z0 , loaded 
with an arbitrary impedance ZL 
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Ávoltage reflection 
coefficient 
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ÁTotal power delivered to the load = Incident 
power ɀ Ȱ2eflectedȱ ÐÏ×ÅÒ 
Á2ÅÔÕÒÎ Ȱ,ÏÓÓȱ ɍÄ"Ɏ 

Átime-average Power flow along the line 
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Á The source has the ability to sent to the load a certain 
maximum power (available power) Pa 

Á For a particular load the power sent to the load is  less than 
the maximum (mismatch) PL < Pa 

Á The phenomenon is ȰÁÓ ÉÆȱ (model) some of the power is 
reflected Pr = Pa ɀ PL 

Á The power is a scalar ! 
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Ácomplex numbers 
Áin the complex plane 
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Áa,b 
Áinformation about signal power AND signal phase 

ÁSij 
Ánetwork effect (gain) over signal power including 

phase information 

ù
ú

ø
é
ê

è
Öù
ú

ø
é
ê

è
=ù
ú

ø
é
ê

è

2

1

2221

1211

2

1

a

a

SS

SS

b

b

sourceZfromPower

loadZinPower
S

0

02

21 =

[S] 

a1 a2 

b1 b2 



|ɜ|=1 
¯Ï=G 608.0L

0.2 0.4 0.6 0.8 1.0 

0° 

45° 

90° 

135° 

180° 

225° 

270° 

315° 

V0 

Z0 ZL 

ɜL ɜ0 

00=G

mG¢G0

perfect match 

ȰÇÏÏÄ ÅÎÏÕÇÈȱ ÍÁÔÃÈ 

How? 
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Á Match can be obtained if 
and only if rL = 1 

Á we compensate the 
reactive part of the load 


